
 

User Manual - EN 

IN 4526 Bike inSPORTline ZEUS (SB-530) 

 

 



Safety information 

Important! 
1. Class - HC (according to EN ISO 20957) for home use. 

2. User weight should not exceed 110. 

 

3. This training apparatus is intended for the standard and commonly practiced art of bike 

riding only. Anything other than this is inappropriate 

 

In order to prevent accidents and or injury, please read and follow these simple rules: 

 

Do not allow children to platy in the area of this device, it is not a toy. 

 

Control and tighten all screws, nuts, bolts and the saddle and pedals on a regular basis. 

 

Check your equipment regularly for signs of ware. Replace defective parts immediately. In 

the event of any defect, cease usage until fully repaired. 

 

Keep hands and free clear of the chain and crank case in the absence of the housing cover. 

 

Avoid wearing baggy clothing as this may get tangled up in the machinery. Choose only 

appropriate trainings clothing. 

 

Do not attempt to ride bare foot. Use only appropriate training shoes. 

 

Do not stand on this device. 

 

Place your home trainer on a solid flat surface for training. 

 

Refrain from training directly before and or after meals. 

 

Before starting any type of fitness training, consult your Doctor. 

 

IMPORTANT! 

Do not discard the carton until you have successfully completed the assembly 

Please read the instructions carefully before starting 

Take and audit of all existing parts that are found inside the carton, match them with the 

included parts list. 

 

 

 

 

 

 

 



Scheme 

 

 

 

 



Part list 

NO. DESCRIPTION SPECIFICATION Q'TY 

1 MAIN FRAME   1 

2 REAR STABILIZER 40*97*2.0*498 1 

3 REAR STABILIZER CAP 40*97 ABS 4 

4 ROUND FOOT M10*45*50  4 

5 HEX HEAD BOLT M10*60  4 

6 WASHER 10*26*2 4 

7 WASHER 10*26*2  12 

8 NUT CAP M10  4 

9 FRONT STABILIZER 40*97*2.0*498 1 

10 PU WHEEL Φ58*20 2 

11 BOLT 8*30*M6  2 

12 BOLT M6*12  2 

13 PULLEY AXLE 25*124  1 

14 PULLEY Φ210 1 

15 BELT 550EL 1 

16 SPRING WASHER 10 4 

17 BOLT 10*15  4 

18 BEARINGS 6004ZZ SKF 2 

19 SPACER 20.1*24*37 1 

20 BEARINGS SPACER Φ38*Φ48*12 2 

21 NYLOCK NUT M20*P1.0   1 

22 PLASTIC CAP 42*13  1 

23 CRANK L 170  BIKE 1 

24 BOLT 8*20 2 

25 NUT 17.5*8*M6 2 

26 PEDAL L D10 1 

27 CRANK R 170  BIKE 1 

28 PEDAL R D10 1 

29 FLYWHEEL 21kg 1 

30 BEARINGS 6001ZZ SKF 6 

31 BELT WHEEL   1 

32 STEEL-PLATE Φ42.5*4 SPHC 1 

33 FLYWHEEL AXLE 14*185 SCM415 1 

34 WASHER 12.2*16.6 4 

35 NYLOCK NUT M12*P1.5   6 

36 ZIP 19*4  2 

37 WASHER 13*20*2  2 

38 FLYWHEEL SPACER 12.25*16*11 1 

39 CAP   4 

40 NUT M8*P1.25   4 

41 BOLT M8*50*P1.25 2 

42 BOLT M4*10 8 



43 BOLT M8*20 2 

44 BUSHING FOR SEAT TUBE 8*92  1 

45 HANDLEBAR   1 

46 BUSHING 36*93*259  2 

47 UPPER UPRIGHT POST 30*60*1 1 

48 BOLT M5*9 1 

49 ADJUSTABLE KNOB   2 

50 SEAT POST 30*60*1.8*280 1 

51 CHAIN COVER L BIKE 左709*261 1 

52 CHAIN COVER R BIKE右715*269 1 

53 FRONT CAP 248*138 ABS 1 

54 PROTECT CAP 53.5*118/TPR 2 

55 BOLT 5*16  17 

56 WASHER 5*10  19 

57 WASHER 6*12  4 

58 
PROTECT CAP FOR MAIN 

FRAME 
  2 

59 BEARINGS 608Z 4 

60 L-ADJUSTABLE KNOB   2 

61 LOWER CAP   4 

62 BOLT 5*10  2 

63 U-BAR FOR SEAT   1 

64 BOLT 4*10 1 

65 WASHER 8*19 2 

66 BRAKE BOLT 10*133  1 

67 BRAKE NUT 16.8*16.8*31 1 

68 BOLT M5*5 DIN 2 

69 NUT M10*P1.5   6 

70 NYLOCK NUT M8 1 

71 ROUND STEEL-PLATE 16.8*3 2 

72 SPRING 2*16*30 1 

73 BOLT 10*101.5 1 

74 SPRING 1.5*15*25 1 

75 NUT 16.8*16.8*25 1 

76 NUT M8*P1.25  2 

77 BRAKE ADJUST PIN 20*30 1 

78 NUT M6  2 

79 BOLT M6*20  2 

80 U-TUBE 30*3*66.5 1 

81 SPACER Φ6.2*Φ10*6.2 2 

82 FIXED CLIP 25*112 1 

83 STRAP 25*7*115 1 

84 WASHER 176*59*1.5 PVC 2 

85 RUBBER PAD 12*92 1 

86 WASHER Φ8*Φ18*1.0 2 



87 WASHER 14*20*0.5  2 

88 SEAT VL3125 1 

89 ROLL 3.2*3.2*199 4 

90 SPRING 10*10*1.0 2 

91 BRAKE KNOB   1 

92 NUT M6 1 

93 WASHER 10*26*1.5 不銹鋼 4 

        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Parts: 

Hex head bolt 10*60 (5)

4   X 4   X

Nut cap M10 (8)

Plastic washer 10*26*2 (6)

4   X

Flat  washer 10*26*2 (7)

4   X

Adjustable knob (60)

1   X

1   X

14# X15# Screw Driver

1   X

M3 Allen wrench

2  X

19 # X17# Screw Driver

19

 

 



1  X

Handle bar (45)

1  X

Seat (88)

Main frame (1)

Steel plate (84) Rear stabil izer (2)

Pedal (26&28)
Front stabilizer (9)

2 X 1  X

1  X 1  X

1  X

1  X

Upright post (47)

Seat post (50)

 



19# X17# Screw Driver-2 pcs

step1.

Attached the stabilizer (9&2) to  the main frame(1).through the 

steel plate (84).and fixed with hex head bolt (5).washer(7) 

.plastic washer(6)& nut cap(8).by screw driver.

1

19

19

 

 



step 2.

Loosen the adjustable knob(49),and insert the upright post(47) 

and seat post (50) into main fra me(1),then fixed tightly the 

adjustable knob(49).

2

 



3

14# X15# Screw Driver

step 3.

Attach the pedal (26&28) to the crank (23).and fixed seat(88) to  

the seat adjust tuble (63).with screw driver

 

 



4

step 4.

Attach the handlebar (45).to the upright post(47).and fixed with 

plastic cap (39),bolt (43)& adjustable knob(60).

M3 Allen wrench

 

  

 

 



TERMS AND CONDITIONS OF WARRANTY, WARRANTY CLAIMS 

General Conditions of Warranty and Definition of Terms 

All Warranty Conditions stated hereunder determine Warranty Coverage and Warranty Claim Procedure. 

Conditions of Warranty and Warranty Claims are governed by Act No. 40/1964 Coll. Civil Code, Act No. 

513/1991 Coll., Commercial Code, and Act No. 634/1992 Coll., Consumer Protection Act, as amended, also in 

cases that are not specified by these Warranty rules. 

The seller is SEVEN SPORT s.r.o. with its registered office in Borivojova Street 35/878, Prague 13000, 

Company Registration Number: 26847264, registered in the Trade Register at Regional Court in Prague, Section 

C, Insert No. 116888. 

According to valid legal regulations it depends whether the Buyer is the End Customer or not. 

“The Buyer who is the End Customer” or simply the “End Customer” is the legal entity that does not conclude 

and execute the Contract in order to run or promote his own trade or business activities. 

“The Buyer who is not the End Customer” is a Businessman that buys Goods or uses services for the purpose of 

using the Goods or services for his own business activities. The Buyer conforms to the General Purchase 

Agreement and business conditions to the extent specified in the Commercial Code. 

These Conditions of Warranty and Warranty Claims are an integral part of every Purchase Agreement made 

between the Seller and the Buyer. All Warranty Conditions are valid and binding, unless otherwise specified in 

the Purchase Agreement, in the Amendment to this Contract or in another written agreement. 

Warranty Conditions 

Warranty Period 

The Seller provides the Buyer a 24 months Warranty for Goods Quality, unless otherwise specified in the 

Certificate of Warranty, Invoice, Bill of Delivery or other documents related to the Goods. The legal warranty 

period provided to the Consumer is not affected. 

By the Warranty for Goods Quality, the Seller guarantees that the delivered Goods shall be, for a certain period 

of time, suitable for regular or contracted use, and that the Goods shall maintain its regular or contracted 

features. 

The Warranty does not cover defects resulting from: 

User’s fault, i.e. product damage caused by unqualified repair work, improper assembly, insufficient insertion of 

seat post into frame, insufficient tightening of pedals and cranks 

Improper maintenance 

Mechanical damages 

Regular use (e.g. wearing out of rubber and plastic parts, joints etc.) 

Unavoidable event, natural disaster 

Adjustments made by unqualified person 

Improper maintenance, improper placement, damages caused by low or high temperature, water, inappropriate 

pressure, shocks, intentional changes in design or construction etc. 

Warranty Claim Procedure 



The Buyer is obliged to check the Goods delivered by the Seller immediately after taking the responsibility for 

the Goods and its damages, i.e. immediately after its delivery. The Buyer must check the Goods so that he 

discovers all the defects that can be discovered by such check.  

When making a Warranty Claim the Buyer is obliged, on request of the Seller, to prove the purchase and validity 

of the claim by the Invoice or Bill of Delivery that includes the product’s serial number, or eventually by the 

documents without the serial number. If the Buyer does not prove the validity of the Warranty Claim by these 

documents, the Seller has the right to reject the Warranty Claim. 

If the Buyer gives notice of a defect that is not covered by the Warranty (e.g. in the case that the Warranty 

Conditions were not fulfilled or in the case of reporting the defect by mistake etc.), the Seller is eligible to 

require a compensation for all the costs arising from the repair. The cost shall be calculated according to the 

valid price list of services and transport costs. 

If the Seller finds out (by testing) that the product is not damaged, the Warranty Claim is not accepted. The 

Seller reserves the right to claim a compensation for costs arising from the false Warranty Claim. 

In case the Buyer makes a claim about the Goods that is legally covered by the Warranty provided by the Seller, 

the Seller shall fix the reported defects by means of repair or by the exchange of the damaged part or product for 

a new one. Based on the agreement of the Buyer, the Seller has the right to exchange the defected Goods for a 

fully compatible Goods of the same or better technical characteristics. The Seller is entitled to choose the form of 

the Warranty Claim Procedures described in this paragraph. 

The Seller shall settle the Warranty Claim within 30 days after the delivery of the defective Goods, unless a 

longer period has been agreed upon. The day when the repaired or exchanged Goods is handed over to the Buyer 

is considered to be the day of the Warranty Claim settlement. When the Seller is not able to settle the Warranty 

Claim within the agreed period due to the specific nature of the Goods defect, he and the Buyer shall make an 

agreement about an alternative solution. In case such agreement is not made, the Seller is obliged to provide the 

Buyer with a financial compensation in the form of a refund. 



 

 

 

Date of Sale: Stamp and Signature of 

Seller: 

 


